| total events O=anylnput 8=anyAccept | Entries 1066

3.841

Mean

IRMS  3.279

.....................................................................

0 1 2 3 4 5 6 7 8 9

Accept: 4=oneJet, 5=diJet, 6=rnd

Entries 478
Mean 23.77
RMS 7.596

|L2 COMP+DECI time per input event

y: events

| | ] i 11 1 i ru]l 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1 i 11 1
0 20 40 60 80 100 120 140 160 180
x: COMP+DECIS time (CPU kTics)

Entries 478
Mean 34.5
RMS  9.737

|rate of input events

y: rate (Hz)
H
N
=

0 500 1000 1500 2000 2500
X: time in this run (seconds)

4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 170

Mean 26.76
RMS 9.226

y: rate (Hz)

0 500 1000 1500 2000 2500
X: time in this run (seconds)



BTOW tower, Et>2.0 GeV (input)

22
2
18

soft=1+ =

00 Y

soft=801+

TI00

2

18

16

soﬂ:1601$§ RN

.-

aa-

2500

BTOW tower, Et>2.0 GeV (input)
22

2 e eeeeeeneenaan

.-

18 -
16 -

soﬂ:3201$% B

o
X: BTOW softiD.



2

05

han+128*crate

2

5

crate=2"

05

: i=chan+128*crate

3 E—-— B L L B R LE TR aeen aee

25 E—------------------- R L B P

crate=3 . .. ...
P B ;

tr
x: i=chan+128*crate

x: i=chan+128*crate

2

[ A

crate=5"

05

0

T
x: i=chan+128*crate

crate=6"

1

05

-
i

=chan+128*crate



BTOW tower, Et>2.0 GeV (input)

Entries

390

_BTOW-East
: - : —~

O__H;III-IiI-IIJIIII Dl o

ILII

BTOW

-West
-

L e S -_— """"" I B

P Kt N VRS- SN S et M

=
——

A =

-

0 5 10 15 20 25

30

35

40

X: eta bin, [-1,+1]

o

(@y!

y: phi bin ~secto

0.

0 Orllhlllll

E
~

ETOW

r
D
o

Ilo
B

T ™

S S S AU N
B B

0f

N S S e

0

2

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]

.5




Entries

y: iPhi ~sector

30

|diJetl eta-phi (input)]

BTOW-West| Endcap
)

.............................

.......................................

.........................................

................................

12 14
x: iEta [-1,+2]

Et Jetl-Jet2 (input) | Entries 478
30
2 C : 30
e [ :
o _F s
e T A 25
- - :
20| e _oo
(L] I S At SUUTIE SRR I15
n -
S EtD * R e 10
. o ™ whg e | =
0 111 | | I T | | | I T | O
0 5 10 15 20 25 30
x: Jetl Et/GeV
Entries 478

|diJet phil-phi2 (input) |

y: iPhi2 ~sector

30

N
¢

20

15

10

10 15 20

25
x: iPhil ~sector

6

30

[diJet2 eta-phi (input)|

y: iPhi ~sector

BTOW-West| Endcap

12 14
X: iEta [-1,+2]

478




Jetl Et (input) Entries 478 Jet2 Et (input) Entries 478
s o e - Mean 7.73 o P R R Mean  2.759
102 : : ' : |RMS 2446 - : : : : : |RMS 1.91

10 10 =
1 1
0o 10 20 30 40 y 50 60 0 10 20 30 40 50 60
x: Et (GeV) x: Et (GeV)
#BTOW towers>ped+8 (input) | Entries 478 total Et (input) Entries 478
: : : : : : : —|Mean 16.4 E Mean 14.27
""" e N TRV S 6.702 E RMS 4.879

0

100

160 180 200 90 10
x: # of towers/event x: Et (GeV)

120

| Entries 478
Mean 3.828

RMS  3.265

H H i :
40 50 60 70 80 90 100
x: # of towers/event




170

4

3.5

2.5

15

0.5

170

_ _ _ H Entries
one-Jet Et (accepted)| Entries 170 one Jeteta phi (accethtlao\IJ)v
10° = S
- [S]
" (]
R @
........................................................................... 1
............................................................................... E
.................................................................................... [
----------------------------------------------------------------------------------- ;\ PR— [—— === el g
|
I 1 1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 0 -
0 10 20 30 40 50 60 0 2 4 6 8 10 12 14
X: jet Et (GeV) x: iEta [-1,+2]
one-Jet phi (accepted)| Entries 170 |one-Jet eta (accepted)| Entries
i
20 o
o T S
T e o e It S o
(| R T ICRTIe T joreeeeens R
pof e b S — R -
0] AT SITTIIRL SPIRISE TSRO (SRS R
Y e
R S R
4__.. ........... T
. 2:_ ..............................................................................
O:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O:I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhi ~sector

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

Entries

>

Jet2/Ge

30

25

20

15

10

0

......................................................................................

0

20 25 30

x: Jetl/GeV

5 10 15

123

24
22
20
18
16
14
12
10

o N A O

|d|Jet1 eta-phi (accepted)
T

30

y: iPhi ~sector

15

10

0

RTO\AI Fn:t

<_

D

Entries

Il_lI|—|II_||IIII|IIII|IIII|IIII

.............

.............

.............

............

............

............

............................

Endcap

.............................

2

4

6 8

|diJet phil-phi2 (accepted)]

Entries

y: iPhi2 ~sector

30

N
¢

20

15

10

5 10 15 20 25 30
x: iPhil ~sector

123

3

25

15

|d|Jet2 eta phl (accepted)|

N
(&2}

y: iPhi ~sector

20

15

10

10

12 14
x: iEta [-1,+2]

Entries

est| Endcap
.

12 14
X: iEta [-1,+2]

123

3

2.5

15

0.5

123

2

1.8

1.6

1.4

1.2

1

0.8

0.6

0.4

0.2



|diJet Et (accepted)| Entries 123 |diJet eta (accepted)| Entries 123
-{Mean  9.443 : : : : : —Mean 5.923

HRMS 2691 18— RO SO OO ISR S S ....|RMS  3.268

""""""""""""""""""""""""""""""""""""""""""""""""" L

7 RS S Y RS RSN S— -

R N

105 1 ...|—High Etjet |.....: 10: !
--- Low Et jet S
B S ——— eb [ i

: [—High Etje
1 |--- Low Et jet

: E : E E 2 R Prrneeesee R i $oms 1
1 _j--l-“l- -I-.-riril---l-rl--1”]:;;”[‘:[“-L--J---l--l---l”j:J--L-Ll---l-:j”-l---i---l--l-- _I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 1 1 I 1 1 1 1
0 10 20 30 40 50 60 0 2 4 6 8 10 12 14
x: Et (GeV) x: i Eta[-1,+2]

|diJet phi (accepted)| Entries 123 |diJetdeIZeta (accepted)| Entries 123

|Mean 15.48 C T T T T T Mean 30.72

. : e : : 16F—--eeo- S S R
- : : : : :[RMs  8.938 ; 5 : :

RMS  5.593

o A N o 14p=reeee o oo |

SN SRR I | N N T s s St &

T S — TS 11—

— High Et jet
--- Low Et jet

..............................

ot I 1 S H
- 1 1 1 1 i 1 1 1 1 i P l 1 C |_| I|_I|i 1 11 | i 1
10 15 20 25 30 0 10 20 30 40 50 60
X: iPhi ~sector x: delta zeta (rad*10)

e -
A~
V
)
..
X
m
z
[
2.
—

(@]




H Entries 123
|d|Jet delZeta vs. etal (accepted)| Moo 5093
s : Mean 30.72
_)‘T' BO - e ' """

9 : : 45
B BO[ e ST —4
g D —
8 : : —35
g AO e e A S 3
= :
30 —...5 IZ'5
20 e 15
[ 1
10f—--momeoe s S R
C 0.5
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14

x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

Entries

60

50

40

y: delta zeta (rad*10)

30

20

10

—|Mean y

0

5 10 15 20 25 30
x: (iphil+iphi2)/2 (12 deg/bin)

Mean x  14.83
30.72

123

0.5

|diJet eta2 vs. etal (accepted)|

Entries

x: iEta2 [-1,+2]

ean x
End(::a oany

123
5.923
6.5

|
4 6 8 10 12 14
x: iEtal [-1,+2]




|tota|

Et diJet (accepted) |

Entries

14

12

10

123

19.2

.........................................................................

.........................................................................

s 100 O OO L O

100

20 30 40 50 60 70 80 90

x: Et (GeV)

|tota|

Et diJet (accepted_EE)| Entries

1

0.8

0.6

0.4

0.2

0

0 10

:|Mean

0
0

20 30 40 50 60
x: Et (GeV)

|tota|

Entries

1

0.8

0.6

0.4

0.2

Et diJet (accepted_EB)|

:|Mean

5

23.1

.................................................

.................................................

20 30 40 50 60

x: Et (GeV)

|tota| Et diJet (accepted_BB)| Entries 123
C Mean 19.2

14

12

10

......................................................................

R | O P R K

20 30 40 50 60 70 80 90 100

x: Et (GeV)




|Et of Jetl vs. Jet2 (accepted EE)| sntries 0
= ean x 0
> 30 -Mean y 0
S :
S L
L et R I T RCRITIIRY SEMPRCRIR SRR
20 | e
e O SNt SRR SOU PR OUONE SUROUUR SO — High Et jet
C --- Low Et jet
10:_ ......................................................................................
] ESSSROPIOS USROS MUSTSSINOE SSVMUSRSONS OSSO SRS
O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30
x: Jetl/GeV
|diJet phil-phi2 (accepted EE)| entries 0 |diJet eta2 vs. etal (accepted EE)| cntres 9
_ 30 —Mean y 0 _ BTOW End(,:a eany 0
g r : T oAb NS ORI NS S .
g T 7 1E =
L) O OO OO SO ~ 5
~ O Y OO SUUUUURUUS SUUSTURUUE SOUUUOROS SUUUUTRIRY NOUUUOURI: SOURUOOIOS ...Ehdcap
e - L - :
x = F
. - > -
S0 20 10
i S
L S C BTOW
. ) ORS00 SR SSMUHISS SORON  S————
10_— ''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' C
C L S R R S
o O SRRt SUUURUUOE SURNRUROOE SVRURURON ST C
N 2_— -----------------------------------------------------------------------------------
0 C 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O C 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector

x: iEtal [-1,+2]



|Et of Jetl vs. Jet2 (accepted_EB)|

>
)

Jet2/G

30

25

20

15

10

......................................................................................

............ AR S S —— Y

.............................................................

Entries 5
Mean x 10.1
5.1

: Mean y

0.9

—0.8

—0.7

—0.6

—0.4

0.3

0.2

0.1

0
0

IIIIilIllillllillllillllillll O

5

10

15

20

|diJet phil-phi2 (accepted_EB)|

y: iPhi2 ~sector

30

25

30

x: Jetl/GeV

|diJet Et

(accepted EB)|

o

Entries

:|Mean

5

10.1

— High Et jet
--- Low Et jet

R L L L L R I
P oo o omommomommom omomm ommmEmEmomm o omom o

il

x: Et (GeV)

N
¢

20

15

10

............ il

Entries 5
Mean x 16.9

Meany 147

0.9

—0.8

—0.7

—0.6

—0.4

0.3

0.2

0.1

1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O

0

5

10

15

20

25

30

x: iPhil ~sector

|diJet eta2 vs. etal (accepted_EB)|

Entries
ean x

x: iEta2 [-1,+2]

[ERY
N

[N
N

1N
O

Endca

10 20 30 40 50 60

5
10.3
11.5

eany

[ee]

.............................

.............................

0.3

0.2

0.1

0 2 4 6 8 10 12 14

x: iEtal [-1,+2]



|diJet Et

(accepted BB)|

Entries

10

~{Mean

123

9.443

..[— High Et jet
-f--- Low Et jet

ikl o el Wulir e 1|||'|||||||1|||||'||||

20 30 40 50

60

x: Et (GeV)

Entries 123
|Et of Jetl vs. Jet2 (accepted_BB)| oy o 4aa
> 30 — Mean y 4.98
[} - .
g C 22
L O RSP SO —20
C —18
20 16
B 14
151 12
C 10
10 8
C 6
5:— 4
C 2
0_| 1 1 1 | 1 11 1 | 1 1 11 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 O
0 5 10 15 20 25 30
x: Jetl/GeV
i i1._ i Entries 123
|d|Jet phil-phi2 (accepted_BB)| Vi
_ 30 |Meany 1467
o - .
P -
n - :
] S it S ] FRTTRIRRRRS —25
£t s
= C |
3 20 b S B P
C
T T e 15
L s . -------------- —1
] T = e 05
O_I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O
0 5 10 15 20 25 30

Sun Apr 12 00:23:00 2009

x: iPhil ~sector

123
5.923
6.5

|diJet eta2 vs. etal (accepted_BB)| Entries
Endcap=eh

' : i .y

:.f I S S A S

8

.I‘.I_‘_J 12 b R e e

5%

12 14
x: iEtal [-1,+2]




